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% W Thir £ 2 2 % 1,197 12 1.0 9 75.0 0 0 0 0 2 0 3 4( 000( 0.00 12 1 8.3 1 0.0 0 0 0 1 O( 000| 0.00
w =2 B # 1,561 20 1.3 16 80.0 0 0 0 0 4 0 7 5 0.00 | 0.00 15 1 6.7 1] 100.0 0 0 0 1 O( 000| 0.00
BORor 2 OE 275 13 4.7 11 84.6 0 0 0 2 1 0 2 O( 000| 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
) Ol T £ 2 2 % 2,183 27 1.2 26 96.3 0 0 0 2 6 0 9 9 0.00 | 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
w o2 B # 2,458 40 1.6 37 92.5 0 0 0 4 13 0 11 9 0.00| 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
R OR ¥ OE 1,358 45 3.3 39 86.7 1 0 0 3 18 0 10 1 2.22 0.07 3 0 0.0 0 0 0 0 0 0 0.00
%ﬁﬁﬁ @E@ﬁ% g R ¥ & 7,733 79 1.0 11 89.9 0 0 0 3 18 1 26 23 0.00| 0.00 12 1 8.3 1 0.0 0 0 0 1 O 000 (| 0.00
w72 B % 9,091 124 1.4 110 | 88.7 1 0 0 6 36 1 36 30 | 0.81 0.01 15 1 6.7 1] 100.0 0 0 0 1 O( 000( 0.00
BORo7 2 OE 362 15 4.1 11 73.3 0 0 0 0 5 1 4 1 0.00 | 0.00 4 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
T FE T £ % » & 1,263 17 1.3 15 88.2 0 0 1 0 1 0 3 10 5.88 0.08 26 2 1.7 2 | 100.0 0 0 0 1 1 0.00| 0.00
w o2 B % 1,625 32 2.0 26 81.3 0 0 1 0 6 1 7 11 3.13 0.06 30 2 6.7 2 | 100.0 0 0 0 1 1 0.00| 0.00
BORor 2% OE 604 14 2.3 14 | 100.0 0 1 0 5 3 0 2 3 714 0.17 4 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
w OB Thie £ 2 » & 1,439 20 1.4 19 95.0 0 0 1 0 9 0 3 6 5.00 [ 0.07 14 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
w o2 B % 2,043 34 1.7 33 971 0 1 1 S 12 0 5 9 5.88 0.10 18 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
BORo7 2 OE 426 17 4.0 14| 824 0 0 0 3 1 0 3 1 0.00 | 0.00 2 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
IRk B Thig £ 2 2 # 2,137 41 1.9 37 90.2 0 0 0 0 16 0 6 15 0.00 | 0.00 2 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
w o2 B & 2,563 98 2.3 51 87.9 0 0 0 3 23 0 9 16 0.00 | 0.00 4 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
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X453 L & ® £ 13 B ® £
Q%iﬁ%ﬁ apAR | B |meeE | 0L | SN B4 D S Ecmﬁ S ol " e | hey |meam| GFE lemes| SN BE %ﬁfﬁff § i:: B %Z;R " Cang | hax
BT A B B/A% C C/B% | RFELR R gf&% 3 1,2 AIS OFR | & L D/B% D/A% E F F/E% G G/F% | B4 | zo | EBE | ORI %L H/F% H/E%
BORor 2 OE 186 6 3.2 6 100.0 1 0 0 1 4 0 0 0| 16.67 0.54 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
N\ F K H® £# 2 2 & 648 13 2.0 13| 100.0 0 0 0 1 5 0 4 3 0.00 | 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
w o2 B & 834 19 2.3 19| 100.0 1 0 0 2 9 0 4 3 5.26 0.12 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
BORor 2 OE 1,578 92 3.3 45 86.5 1 1 0 9 19 1 9 S 3.85 0.13 10 0 0.0 0 0.0 0 0 0 0 O( 000( 0.00
éﬁ‘{ﬁ x @E};ﬁ g R ¥ E 5,487 91 1.7 84| 923 0 0 2 1 31 0 16 34 220 0.04 42 2 4.8 2| 100.0 0 0 0 1 1 0.00| 0.00
w o2 B % 7,065 143 2.0 129 90.2 1 1 2 10 20 1 25 39 280 | 0.06 92 2 3.8 2| 100.0 0 0 0 1 1 0.00| 0.00
BORo7 2 OE 129 30 4.1 28 93.3 0 0 0 6 8 0 13 1 0.00 | 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
B A Thig £ 2 2 & 5,832 60 1.0 o4 90.0 1 0 0 3 19 0 19 12 1.67 0.02 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
w =72 B % 6,561 90 1.4 82 91.1 1 0 0 9 27 0 32 13 1.11 0.02 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
R o7 % OE 82 6 1.3 5 83.3 0 0 0 1 3 0 1 O( 000| 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
i £ HE & 2 2 & 431 10 2.3 9 90.0 0 0 0 1 4 0 3 1 0.00 | 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
w2 ¥ & 913 16 3.1 14| 875 0 0 0 2 1 0 4 1 0.00 | 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
R o7 2 E 164 10 6.1 )/ 70.0 0 0 0 2 2 0 2 1 0.00 | 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
i) fiTe € 2 2 # 1,216 11 0.9 7 63.6 0 0 0 1 2 0 1 3 0.00 | 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
w2 ¥ & 1,380 21 1.5 14 66.7 0 0 0 3 4 0 3 4( 000( 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000| 0.00
BORor 2 OE 975 46 4.7 40 87.0 0 0 0 9 13 0 16 2 0.00 | 0.00 0 0 0.0 0 0.0 0 0 0 0 O( 000 (| 0.00
gﬂ & @g.‘ﬁ% g R ¥ & 7,479 81 1.1 70| 864 1 0 0 S 25 0 23 16 1.23 0.01 0 0 0.0 0 0.0 0 0 0 0 O 000 0.00
R 72 B F 8,454 127 1.5 110 | 86.6 1 0 0 14 38 0 39 18| 0.79 0.01 0 0 0.0 0 0.0 0 0 0 0 O 000( 0.00
R % % & 23,648 843 3.6 724 | 859 10 3 3 107 283 9 199 154 1.90 | 0.07 611 37 6.1 33 89.2 3 0 3 6 21 8.11 0.49
i ati® & = % # 78,724 | 1,153 1.5 1,023 88.7 2 0 8 40 343 5 284 341 0.87 0.01 | 2,513 106 4.2 101 95.3 1 0 7 18 75 094 | 0.04
w =2 % & 102,372 | 1,996 1.9 1,747 87.5 12 3 11 147 626 10 443 495 1.30| 0.03] 3,124 143 4.6 134 93.7 4 0 10 24 96 280 | 0.13




